Fiction Assessment Task 1
It's Not My Fault

Teacher notes: It's Not My Fault

Curriculum references: Years 3—-4
Programme of study:  Reading comprehension

Children should be taught to:

¢ develop positive attitudes to reading and — asking questions to improve their understanding
understanding of what they read, by: of a text
— listening to and discussing a wide range of fiction, - drawing inferences such as inferring characters'
poetry, plays, non-fiction and reference books or feelings, thoughts and motives from their actions,
textbooks and justifying inferences with evidence
¢ understand what they read, in books they can read — predicting what might happen from details stated
independently, by: and implied
— checking that the text makes sense to them, — identifying main ideas drawn from more than one
discussing their understanding, and explaining paragraph and summarising these.

the meaning of words in context

Running the task

As this task is designed to help you understand e Support children working towards the expected
the children's reading strategies as well as their standard in writing skills or reading skills, as
understanding of the text, you will need to read with suggested in the introduction to this book.
children individually in some cases. e Children working independently should read the
e Explain that they are going to read a text about text and complete their answers. Circulate as they
three children looking after a baby. do so, and ask children to read aloud to you from

the point in the text they have reached, so you can
assess their reading fluency and expression.

Assessment guidance

Use the list below to identify the content domains that the children are working on in this task.

Typically, children working at the expected standard will:

* retrieve key details and quotations from fiction and non-fiction to demonstrate understanding of 2b
character, events and information

e accurately and selectively summarise main ideas, events, characters and information in fiction and 2c
non-fiction texts

e explain and justify inferences, providing evidence from the text to support reasoning 2d

* make developed predictions that are securely rooted in the text. 2e
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What to expect

Why did Mum want to go next door? Tick the correct answer.

Most children should answer this correctly. Some children working towards the expected
standard may select the wrong part of the text and tick the first option (“Because Dad was in
bed with a cold.").

(2b)

. Why did Mum want the children to keep quiet?

Children working towards the expected standard may say that it is because Dad is in bed with

a cold and that noise will disturb him. Most children will understand that the children’s father is
probably asleep and may be woken by noise downstairs, and that if he doesn't sleep he may not
recover as well. Some children working at greater depth within the expected standard may show
awareness beyond this, e.g. “Mum doesn't want the neighbours to be disturbed."

(2d)

What makes Kitty think that William is her happiest friend?

Most children will state that he always has a smile on his face. Children working at greater depth
within the expected standard will also see that “Nothing seemed to put him in a bad mood" and
that he doesn't seem to mind looking after the baby — he is willing to help.

(2d)

Do you think Daniel is older or younger than Kitty? Explain your answer.

Children working towards the expected standard may refer to him being able to carry the

baby, so assume that he is bigger and therefore probably older. Most children will see that he is
carrying the baby because he has more responsibility. They may point out that he enjoys playing
games that are too young for him — as Kitty and William's games are — so this shows he is older.
Some children working at greater depth within the expected standard may also point out that
Daniel says he supposes he will have to help them, implying that he is an older brother.

(2d)

Whose fault is it that the baby started to cry?

Children working towards the expected standard are more likely to say that Kitty threw the
cushion that started him off; children working at greater depth within the expected standard will
explain that Daniel goaded her into it.

(2d)

Number these events from 1 to 5 in the order that they happened in the story.

Most children working at the expected standard should be able to correctly number these
events. Children working towards the expected standard may not read the text correctly and
may suggest that Mum went out first.

(2¢)

Why would the children be worried when the baby started to cry?

Most children will say that they might be worried because it would wake their father. Children
working at greater depth within the expected standard might also suggest that their mother
might hear from next door, or that they may not be able to calm him down before their mother
returns, and so they will get into trouble.

(2d)

What do you think Mum would say if she walked back in at the end of the text?

Children working at greater depth within the expected standard should give a full response,
explaining that Mum would be cross and worried and explain why. Children working at the
expected standard may give only one explanation and fail to elaborate further. Children working
towards the expected standard may only give a simple response, which may consist of dialogue
without demonstrating a clear prediction.

(2e)
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Name: Date:

Read the text, then answer the questions.

1. Why did Mum want to go next door? Tick the correct answer.

Because Dad was in bed with a cold. D
Because William was coming to play. D
So the children could look after the baby. D

Because she wanted to ask for her neighbour's help. D

2. Why did Mum want the children to keep quiet?

3. What makes Kitty think that William is her happiest friend?

4. Do you think Daniel is older or younger than Kitty? Explain your answer.

5. Whose fault is it that the baby started to cry?

6. Number these events from 1 to 5 in the order that they happened in the story.

Mum went out D
The children started to make a den. D
Baby Tom became hot and started to whimper. D
William came to play. D
Baby Tom cried. D

7. Why would the children be worried when the baby started to cry?

8. What do you think Mum would say if she walked back in at the end of the text?
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